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QUESTION 1

Which code successfully calculates tax? 

A. CREATE OR REPLACE PROCEDURE calctax (p_no IN NUMBER) RETURN tax IS v_sal NUMBER; tax NUMBER;
BEGIN SELECT sal INTO v_sal FROM emp WHERE empno = p_no; tax := v_sal * 0.05; END; 

B. CREATE OR REPLACE FUNCTION calctax (p_no NUMBER) RETURN NUMBER IS v_sal NUMBER; BEGIN
SELECT sal INTO v_sal FROM emp WHERE empno = p_no; RETURN (v_sal * 0.05); END; 

C. CREATE OR REPLACE FUNCTION calctax (p_no NUMBER) RETURN NUMBER IS v_sal NUMBER; tax NUMBER;
BEGIN SELECT sal INTO v_sal FROM emp WHERE empno = p_no; tax := v_sal * 0.05; END; 

D. CREATE OR REPLACE FUNCTION calctax (p_no NUMBER) IS v_sal NUMBER; tax NUMBER; BEGIN tax
NUMBER; BEGIN SELECT sal INTO v_sal BEGIN SELECT sal INTO v_sal FROM emp SELECT sal INTO v_sal FROM
emp WHERE empno = p_no; FROM emp WHERE empno = p_no; tax := v_sal * 0.05; WHERE empno = p_no; tax :=
v_sal * 0.05; RETURN (tax); WHERE empno = p_no; tax := v_sal * 0.05; RETURN (tax); END; tax := v_sal * 0.05;
RETURN (tax); END; RETURN (tax); END; 

Correct Answer: B 

 

QUESTION 2

Which two statements about packages are true? (Choose two.) 

A. Packages can be nested. 

B. You can pass parameters to packages. 

C. A package is loaded into memory each time it is invoked. 

D. The contents of packages can be shared by many applications. 

E. You can achieve information hiding by making package constructs private. 

Correct Answer: DE 

 

QUESTION 3

Which two statements about packages are true? (Choose two.) 

A. Both the specification and body are required components of a package. 

B. The package specification is optional, but the package body is required. 

C. The package specification is required, but the package body is optional. 

D. The specification and body of the package are stored together in the database. 

E. The specification and body of the package are stored separately in the database. 
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Correct Answer: CE 

 

QUESTION 4

Which two does the INSTEAD OF clause in a trigger identify? (Choose two.) 

A. The view associated with the trigger. 

B. The table associated with the trigger. 

C. The event associated with the trigger. 

D. The package associated with the trigger. 

E. The statement level or for each row association to the trigger. 

Correct Answer: AC 

 

QUESTION 5

Which table should you query to determine when your procedure was last compiled? 

A. USER_PROCEDURES 

B. USER_PROCS 

C. USER_OBJECTS 

D. USER_PLSQL_UNITS 

Correct Answer: C 
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